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FINANCIAL MANAGEMENT
. Paper : 4-3
Full Marks : 80

Time : Three hours

The figures in the‘margin indicate full marks

Jfor the questions.

1. Fill in the blanks with appropriate words :
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1xX5=5
A fixed rate of ____ is payable on
debentures.

Degree of operating leverage =

It is better for a company to remain in
gear during the period of
depression.

Issue of bonus share is a remedial measure
for

Cost of capital is the rate of refa
expected by its investors.
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Answer the following : (any five) - 4%5=20

tc on the importance of

d dividend pay-out ratio.
2424

ture 7 Bxplain.

(a) Write a short no
capital-gearing an

(b) What is optimal capital struc

(c) How is cost of retained earnings ascertained ?

(d) State four differences betw
debentures.

een shares and

end p’dlicy.

(e) Explain any two types of divid
: il

() by firm has sales of 7 15,00,000, variable

costs of %.,00,000 and fixed costs of

z 5,00,000. It issues debenturcs of z 8,00,000
carrying 10% rate of interest. Calculate

(a) Operating Jeverage and

(b) Financial leverage.

(g) How does financial leverage help in
maximising the profits of a firm ?

Answer the following : (any five) gx5=40

over capitalisation At

(a) ‘The consequences of
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The next expected dividend per share 18 ¥
1-50. The dividend per share is expected to
grow at the rate of 7%. The market price per
share is ¥ 20. Preference stock, redeemable
after 10 years is currently selling for ¥ 73
per share. Debentures redeemable after
6 years are selling at ¥ 80 per debenture.
The tax rate applicable for the company is
50%. Calculate the weighted average cost
of capital using market value proportions.

Mozilla Ltd. belongs to a risk class for
which the appropriate capitalisation rate is
10%. It currently has outstanding 50,000
shares selling at ¥ 100 each. The firm 18
contemplating the declaration of dividend of
¢ 6 per share at the end of the current
financial year. The company expects to have
a net income of ¥ 5,00,000 and has a proposal
for making new investments of ¥ 10,00,000.
Show that under MM hypothesis, the
payment of dividend does not affect the value

of the firm.

(h) Explain the theories of capital structure.
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